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COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS
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Section Id : 2549895891
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted : 52

Section Marks : 52

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895932
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896244 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you're using a Windows operating system, generally you can access the recycle bin through an icon located on/in the
Options :

1. ¥ desktop

2. % pen drive

3. # short cut menu

4. % properties dialog box

Question Number : 1 Question Id : 2549896244 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fe STy fASTST SITURIET RieeH &1 IUANT HR I3 &, Al 3H TR W 317 R/ U T 33 & H1erH ¥ s
o &1 TRY PR I 5|

Options :

1. ¥ S&hely

2. % U4 gTd

3. % B AY.

4. * Yigcle Sraa sie

Question Number : 2 Question Id : 2549896323 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a Database Management System (DBMS) from Microsoft that combines the relational Microsoft Jet Database Engine
with a graphical user interface and software development tools.

Options :

1. ¥ MS Access

2. % MS Word

3. % MS Excel

4. % MS PowerPoint

Question Number : 2 Question Id : 2549896323 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ MS Access
2. % MS Word
3. % MS Excel
4. % MS PowerPoint

Question Number : 3 Question Id : 2549896329 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

You can enter up to characters in a field whose data type is Short Text of an MS Access database 2013.
Options :

1. % 125

2. % 375

3. % 235

4. % 255

Question Number : 3 Question Id : 2549896329 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

3T 3G Wies A 3iferman Ut &Sl R Fehd § FOTRIBT ST UBR MS Access SCAY 2013 BT BIEI(TS) TRE g
Options :

1. % 125

2. % 375

3. % 235

4.+ 255

Question Number : 4 Question Id : 2549896343 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

What is the full form of FAT with respect to operating system?
Options :

1. ¢ File allocation table

2. % File attribute table

3. % Font attribute table

4. ¥ Format allocation table

Question Number : 4 Question Id : 2549896343 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SHTRFT e & et H FAT &1 01 30 o1 82
Options :

1. ¥ I T[h R Cdd

2. % BI3d Ufes]C cad

3. % Bl Ufesge ¢ad

4. % BIHC TAIbRI ¢adt

Question Number : 5 Question Id : 2549896483 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

In generation of computers, integrated circuits were used.
Options :

1. % First

2. % Second

3. % Third

4. % Fourth

Question Number : 5 Question Id : 2549896483 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIR B Uit # ST Tfdbe o1 I fovar mam |
Options :

1. % ggait

2. % gl

3. ¢ At

4. % IR

Question Number : 6 Question Id : 2549896491 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these is the slowest memory in a computer system?
Options :

1. ¥ Hard disk

2. % Tape

3. ¥ Cache memory

4. % Static-RAM

Question Number : 6 Question Id : 2549896491 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

frafifEd & @ o T HogeR v & T et 2t 82
Options :

1. ® gT8 &%

2.1

3. % HYAAR (Cache memory)

4. % Static-RAM

Question Number : 7 Question Id : 2549896557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of secondary storage.
Options :
1. # Registers
2. ¥ ROM
3. ¥ RAM
4. % HDD

Question Number : 7 Question Id : 2549896557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
1. ¥ Registers
2. ¥ ROM
3. #¥ RAM
4. % HDD

Question Number : 8 Question Id : 2549896588 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How does the CPU read the information from the secondary memory?
Options :

1. ¥ Direct Access

2. ¢ through RAM

3. # through Hard Disk

4. % through Floppy Disk

Question Number : 8 Question Id : 2549896588 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU ¥ AARY ¥ STHeRI 3 Ugdl 82
Options :

1. % el UEV?J (Direct Access)

2. ¥ RAM & HIETH 4

3. % gls S & aregm ¥

4. % TAl {&%b & AIHH 9

Question Number : 9 Question Id : 2549897294 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an open source operating system, developed by Andy Rubin, used for mobile devices.
Options :
1. ¥ Mac OS
2. % Windows
3. % Android
4. % Linux

Question Number : 9 Question Id : 2549897294 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TP 3N G IR Ried &, O TSt 3o gR1 fasRid fasan man &, fSiTeT ST Hiarsd IuahRun & forg
far STar g |
Options :
1. ¥ Mac OS
2. % Windows
3. % Android

4. % Linux

Question Number : 10 Question Id : 2549898692 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following devices is used to enter information directly into computers WITHOUT having to key the information?
Options :
1. ¥ Scanner
2. ¥ Mouse
3. #¥ Touch Screen

4. % Trackball

Question Number : 10 Question Id : 2549898692 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BRI B Sfehrd fard famm T Fogex & gart ool oA & forg Ay fEarsw & 9 forg IuesRur &1 uanT fosan o g2
Options :

1. ¥ PR

2. % HI3Y

3. % TTXHM

4. % CHAA

~

Question Number : 11 Question Id : 2549898719 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
was an advanced version of the floppy disk developed by lomega.
Options :
1. ¥ Zip Disk
2. # RAM
3. ¥ Magnetic Strip
4. % Smart Card

Question Number : 11 Question Id : 2549898719 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, ARHT(lomega) GRT fAHRId FTd! fE¥H BT U IAd BT AT
Options :
1. ¢ fou fgen
2. ¥ RAM
3. % Oifew feg
4. % T P18

Question Number : 12 Question Id : 25498910957 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

One of the best methods of removing the BIOS setup password is:
Options :

1. ¥ changing the CMOS password jumper setting on the motherboard
2. % removing the password from Windows control panel

3. ¥ updating the BIOS

4. % changing the BIOS chip
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Question Number : 12 Question Id : 25498910957 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

BIOS T3 UNIGS &1 GelH BT 518 I TaY 37T dRId] S 1 52
Options :

1. ¥ H&RAS & CMOS UGS SR Wit & aga

2. % IS Hgid Odt ¥ URIaS &l gl ST

3. % BIOS &I 3USCT HHAl

4. % BIOS fIu sgaT

Question Number : 13 Question Id : 25498911551 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the smallest and fastest memory in a computer?
Options :

1. ¥ CD-ROM

2. # DRAM

3. % Registers

4. % RAM

Question Number : 13 Question Id : 25498911551 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

FEfed 5 9 oF 9 $o 31 Iod BIcT 3R I8 a9 HHR 7
Options :

1. ¥ CD-ROM

2. ¥ DRAM

3. ¥ Registers

4. ¥ RAM

Question Number : 14 Question Id : 25498930059 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

After registration of enrollment of valid users in a biometric system, a new biometric sample when arrives for identity claim, it is
compared with the database of enrolled user’s sample. This process refers to:

Options :

1. % pattern matching

2. % pattern classification
3. % pattern prediction

4. % pattern regression

Question Number : 14 Question Id : 25498930059 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
IARE Fomelt § 3y ITANTGHATST & TRIGHE () & GoihRUl & d1¢ ofd 39! Uga & ald & gfY & forg o
IAAfCH TAT 31T ], A TSB! ga-T AHifhd SUTNTHd! & Serad H U T3 ¥ Bt S 7 | T8 Ufehar 1 gt 82
Options :
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1. ¢ Ge aff

2. % Yo aamfthp e
3. % e ffSavH

4. % Yo flwE

Question Number : 15 Question Id : 25498930381 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
What does 'E' stand for in MPEG?
Options :

1. ¥ Engineer

2. ¥ Experts

3. #¥ Experience

4. % Electrical

Question Number : 15 Question Id : 25498930381 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
MPEG ¥ 'E' &1 31 gUf &7 g2
Options :

1. ¥ Engineer (gﬁﬁﬁm)

2. ¥ Experts (Qaﬂ'qé)

3. # Experience (@W)

4. % Electrical (3qfacdd)

Question Number : 16 Question Id : 2549898151 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of an access control system.
Options :
1. ¥ Wi-Fi
2. % Hotspot
3. % Voice recognition

4. % Internet

Question Number : 16 Question Id : 2549898151 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd {01 JurTelt (T deid RieH) &1 U IETer0 7

Options :

1. % qIR-TpIS

2. % glewie

3. ¢ 3{TATS UgdH (A1 R IHRH)
4. % gaC

Question Number : 17 Question Id : 2549898251 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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is a technique used to deceive users into clicking a link which they did NOT intend to click.
Options :
1. #® Cloaking
2. # Phishing
3. ¥ Spamming
4. % Clickjacking

Question Number : 17 Question Id : 2549898251 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U W I 8 O gord ! el I 39 o WR faeie rardt § o 3 fades A o1 3R1eT gt | |
Options :

1. % FAlfh

2. % fiBfRiT

3. % Wt

4. ¢ TFaPBaIfchT

Question Number : 18 Question Id : 2549899579 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A laser printer uses:

Options :

1. ¥ ink cartridge

2. % toner cartridge

3. % paint

4. % ribbon

Question Number : 18 Question Id : 2549899579 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TJRMR_ SIIWm IR
Options :

1. % 3P Plco

2. ¢ TR Bl

3. % U2

4. % Re

Question Number : 19 Question Id : 25498910769 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
reduces the waiting time of the documents.
Options :
1. % Printer pooling
2. % Printer sharing
3. ¥ Additional driver
4. % Printer port

Question Number : 19 Question Id : 25498910769 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
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0
Correct Marks : 1 Wrong Marks : 0
 SlagHcy P Uie T & HH IR T 8|
Options :
1. ¢ fliex gfcfr
2. % ez Qi
3. % 3ffdRad SR
4. % e ad

Question Number : 20 Question Id : 25498911206 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

A simple harmonic motion is defined as a periodic motion in which:
Options :

1. ¥ acceleration is not proportional to its distance from the fixed point
2. % acceleration is proportional to its distance from the fixed point

3. ¥ acceleration is proportional to its distance from the variable point

4. % acceleration is not proportional to its distance from the variable point

Question Number : 20 Question Id : 25498911206 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

TR BT T BT el iy & &u & uRiiya foan siwan 2, o g 8!
Options :

1. * ol A3 foig 9 st g8 & srguifae et

2.« RO AT faig @ T8I g & Srurfdss

3. % @RUTURGY fog o 3TH! gl & SMTIUIfad

4. % TR ARG foig A 39DT g & AU ol

Question Number : 21 Question Id : 25498913376 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Dilation pixels to the boundaries of the objects in an image, while erosion pixels on the object boundaries.
Options :

1. ¥ adds, removes

2. % removes, adds

3. ¥ deletes, subtracts

4. % deletes, adds

Question Number : 21 Question Id : 25498913376 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

glga'sé'l—;;fdilation) e Bfd 7 sfieciae &1 ATl & forg fUewa &1 , STaTdh SRIRM (erosion) SHTeoiae ! AT TR
e |

Options :

1. ¥ SISal g, Bl &
2. % BT 8, WSl §

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 10/41



5/16/22, 3:32 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

3. % fEclic HdI e, erdi g
4. % fEfic BRaTe, e e

Question Number : 22 Question Id : 25498913910 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

In terms of Computer Networks, what does VPN stands for:
Options :

1. % Vertical Personal Network

2. % Verbal Private News

3. % Virtual Private News

4. % Virtual Private Network

Question Number : 22 Question Id : 25498913910 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
SR Acdd & e H, VPN T T 37 g2

Options :

1. % Vertical Personal Network (am R ﬁ?ﬂéﬂ
2. % Verbal Private News (39 UTgde gul)

3. % Virtual Private News (Gg3{d TT3d< ~gol)

4. % Virtual Private Network (a?j&ra EITEraE' W)

Question Number : 23 Question Id : 25498918462 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

As computers are faster than printers, how is the communication (synchronisation) achieved?
Options :

1. ¥ By enhancing the printer port

2. % By using printer buffer

3. ¥ By changing the printer manufacturing process

4. ¥ By buying a new printer

Question Number : 23 Question Id : 25498918462 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

FHR e I FadR Bid €, O TR (JeaabTar) B UIed Bl 82
Options :

1. % e Ui I YR o

2. ¢ TR IR 1 ST Hb

3. % fliex fmfor ufsban & ufkads b

4. % g7 fiier W'ig

Question Number : 24 Question Id : 25498918548 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
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Which of the following refers to the instruction processing speed of a computer measured in millions of cycles per second?
Options :

1. % Seek time

2. ¥ Baud rate

3. % Access time

4. ¥ Clock rate

Question Number : 24 Question Id : 25498918548 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

frofafad & 9 oH-a1, fifer e vl S & O T SeR ot T TR A1d & defifd SRl 82
Options :

1. % b TZH (Seek time)

2. ® §IS 3T (Baud rate)

3. % TdUY 139 (Access time)

4. ¢ TAI® X< (Clock rate)

Question Number : 25 Question Id : 25498919260 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to the internet?

Options :

1. ¥ A client computer is where websites are stored.

2. % Email is used to communicate and share information on the internet.

3. % Social media allows people to connect in a variety of ways and build communities online.
4. % The World Wide Web is a collection of different websites

Question Number : 25 Question Id : 25498919260 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

gexe & Yo H FAfoiRad & @ ©1F-91 $YF 3R (FALSE) 82

Options :

1. ¢ U FTeC HECR 98 SE § gl dauTge YUaid &i ol gl

2. % ST BT IYGNT See IR YIR 3R STHGRY 10 B & forg fovar srar g |

3. % Grere HifEar ann o1 faftrs adie! A S[eA iR HTasT e §-H &1 3gAfd Sar gl
4. % ICE 9138 39 A dege! BT U GUE B

Question Number : 26 Question Id : 25498919302 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
A web browser is a(n) software.
Options :

1. % gsystem

2. ¥ application

3. ¥ scientific

4. ¥ business

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 12/41
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Question Number : 26 Question Id : 25498919302 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
TSRS Fgeamw Bl
Options :

1. ® Rien

2. ¢ B RA

3. % qqI®

4. % gqd™g

Question Number : 27 Question Id : 25498919355 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Web pages are saved in which of the following format?
Options :

1. ¥ HTML

2. % http://

3. % DOC

4. % URL

Question Number : 27 Question Id : 25498919355 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

39 O 9 1 9 ford e o Youi(¥d fb) o &2
Options :

1. ¥ HTML

2. % http://

3. ¥ DOC

4. % URL

Question Number : 28 Question Id : 25498922674 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The main aim of the system is to dissipate the heat from important devices such as CPU, graphics cards, etc. to the
surrounding air.

Options :

1. % SMPS

2. % CPU-Heat Sink

3. % CPU-AIr conditioner
4. ¥ RAM

Question Number : 28 Question Id : 25498922674 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

YOIl &1 A S5-I CPU, Whad o1 Salfe; o He@yul Suaull & T &1 31-u1 &1 gar & fAfda s g
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Options :
1. ¥ SMPS
2. ¢ CPU-gIe i
3. % CPU-TIR HIITAR

4, % RAM

Question Number : 29 Question Id : 25498924432 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

To increase the response time and throughput, the Kernel minimises the frequency of disk access by keeping a pool of internal
data buffer.

It is also known as:
Options :

1. ¥ swapping

2. % buffer cache
3. #¥ spoofing

4. % pooling

Question Number : 29 Question Id : 25498924432 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
SFforan THy (R0 <1eH) 3R TR UATE (YUT) P! SGH b [o1T, Heid SRS STT TR &b G P SRTAT PR S
TR &1 TG BT HH HRAT G|

T fieerddael

Options :

1. % QI

Question Number : 30 Question Id : 25498925344 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Using a screen saver:

Options :

1. # reduces power consumption

2. ¥ does not consume power

3. ¥ may increase power consumption

4. % hibernates computer

Question Number : 30 Question Id : 25498925344 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
TP HaR BT SUIAN A |
Options :

1. % fyoelt S @Ua HA el &
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2. % foicht 1 @Ud 781 Bidl &
3. ¢ f3orcl 1 @ud §¢1 IhdT 8
4. % HR GISERAC N I Sl §

Question Number : 31 Question Id : 2549896198 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is selling and buying of goods and services through the internet.
Options :
1. ¥ E-commerce
2. % Internet
3. ® E-mail

4. % Icon

Question Number : 31 Question Id : 2549896198 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g & WeH O IE a1 gfausi dl wie-famidl . FEd gl
Options :

1. ¢ S-Hid

2. % e

3. % 30

4. % 3MgHA

Question Number : 32 Question Id : 2549896201 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A global computer network providing a variety of information and communication facilities, consisting of interconnected
networks using standardized communication protocols is known as

Options :

1. ¥ E-mail

2. % Page

3. ®# Cellular phone
4. + Internet

Question Number : 32 Question Id : 2549896201 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS A R Fead o fafis UeR &1 GerT iR TR AU UeH FHRar g, o Areied TR Melsid &1 Sua
HRA B TIRER 3 (FRFICE) Tead MAA B |, & ET Y AH AR

Options :

1. % S

2. % U

3. % qGR BH

4. $TC

Question Number : 33 Question Id : 2549896233 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is an example of a Web Browser?
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Options :
1. ¥ Opera
2. % Star Works
3. ¥ Google Apps
4. % Qdilla

Question Number : 33 Question Id : 2549896233 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TTH Y B T 99 STIR BT IGTERI 52
Options :

1. ¥ Opera

2. % Star Works

3. ®% Google Apps

4. % Qdilla

Question Number : 34 Question Id : 2549896464 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sending some message like letter to other people through a network is called:
Options :

1. ¥ E-mail

2. % FTP

3. ¥ Browsing

4. % Calling

Question Number : 34 Question Id : 2549896464 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

et Aeadh & WeEm § 3 AN ) U O 6 Yo HorHT 1 Heardl 82
Options :

1. ¢ 30d

2. % FTP

3. % ST

4. % BIfeHT

Question Number : 35 Question Id : 2549897373 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which key is used along with SHIFT to select the next cell's contents in MS Excel?
Options :

1. ¥ Enter

2. % Tab

3. % Space bar

4.+ Arrow key

Question Number : 35 Question Id : 2549897373 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & STEH Yo &} YRR BT I B & [T SHIFT & I1Y {5 dront T ITNT o ST 82
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Options :
1. # Enter
2. % Tab
3. ®¥ Space bar
4. ¥ Arrow key

Question Number : 36 Question Id : 2549897390 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which function key is used to go to the next pane or frame in MS Word?
Options :

1. ® Fl

2. % F2

3. ¥ F5

4. ¥ F6

Question Number : 36 Question Id : 2549897390 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & 3T Baidh a1 Tl o WA o forT oy thrar poft T IUiNT foham wiraT 82
Options :

1. ®¥ Fl1

2. ¥ F2

3. % F5

4. ¥ F6

Question Number : 37 Question Id : 2549897468 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to move down one paragraph in MS PowerPoint?
Options :

1. ¥ DOWN ARROW

2. % CTRL+DOWN ARROW

3. ¥ SHIFT+DOWN ARROW

4, % ALT+DOWN ARROW

Question Number : 37 Question Id : 2549897468 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPointﬁWﬁWﬁﬂﬁ%WwWW%?
Options :

1. ¥ DOWN ARROW

2. % CTRL+DOWN ARROW

3. % SHIFT+DOWN ARROW

4. % ALT+DOWN ARROW

Question Number : 38 Question Id : 2549898031 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a valid category of the Column chart?
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Options :
1. ¥ Clustered
2. % Stacked
3. % Stock
4. % 3-D

Question Number : 38 Question Id : 2549898031 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

frofifed & 9 o1 Hiad a1c &t ueh q1g 9uft 781 82
Options :

1. % FRCS

2. % XS

3. ¥ Klb

4. % 3-D

Question Number : 39 Question Id : 2549898070 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To get automatically updated title in the chart you can chart title to some cell on the sheet in MS Excel.
Options :

1. ¥ add

2. % connect

3. % link

4. % attach

Question Number : 39 Question Id : 2549898070 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

¢ H AT ©9 I 3 e U 4 & T 39, MS Excel H, e R G s qadad orefife . Tpa B
Options :

IRACISIUS)

2. % QT (@Hd0)

3. ¥ Dglag I (foih)

4. % IV PR (3HCT)

Question Number : 40 Question Id : 2549898077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following function keys can be used to edit the content of a cell in MS Excel?
Options :

1. ¥ F8

2. % F2

3. % F10

4. % Fl1

Question Number : 40 Question Id : 2549898077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS Excel ¥ 90 & GrEft & Gurfed w1 & ford Fafoiea # o1 W tharm Sior &1 JuanT foan S gavar 82
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Options :
1. % F8
2. ¥ F2
3. % F10
4. #% F11

Question Number : 41 Question Id : 2549898928 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word 2003, which of the following options is NOT available in Insert > picture ?
Options :

1. % Host

2. % Word Art

3. ¥ Clip Art

4. % Chart

Question Number : 41 Question Id : 2549898928 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2003 & 15 & § 1 91 fasred 3=9¢ > faar o Suasy 1Y 52
Options :

1. vV g

2. % 8 3

3. % faqu amc

4. % 91C

Question Number : 42 Question Id : 25498910427 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

In MS Word, the icon like A3 in the Font group stands for:
Options :

1. ¥ Change Case

2. % Grow Font

3. % Shrink Font

4. % (Clear Formatting

Question Number : 42 Question Id : 25498910427 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

MS Word &, BIc THg H 7%~ S 3M1gah &l orf T g2
Options :

1. ¥ &% gl

2. % i< ¥eId

3. % I BICTHY

4. % XU BT

Question Number : 43 Question Id : 25498910517 Question Type : MCQ Option Shuffling : Yes Display Question Number
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: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Raghu has customised the paper size which he can notice Layout menu — Page Setup tab with the help of
Options :

1. ¥ Preview

2. # Print

3. % Other Document

4. % Insert

Question Number : 43 Question Id : 25498910517 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

TG A U 3MHR P 3G ferd fara § R 98 Layout A — Page Setup c8H I TgHIaT I 30 UHhd ¢ |
Options :

1. ¢ g

2. % fiic

3. % 3R SlagAcH

4. % 3¢

Question Number : 44 Question Id : 25498910544 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which margin style gives one inch empty space on top and bottom and the remaining sides of two inches empty space to the page
in Microsoft Word 2016 document?

Options :

1. ¥ Wide

2. % Moderate
3. ¥ Narrow
4. % Mirrored

Question Number : 44 Question Id : 25498910544 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

%AégosoftWordZOMﬁﬂﬁ?ﬁaﬁqTﬁq@WWWﬁﬁ@@wwmmﬁaﬁﬁww

32
Options :
1. ¥ dIg8
2. % TreXe
3. % R
4. % fiRTS

Question Number : 45 Question Id : 25498910571 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
In MS Word, to remove the indent, place your cursor at the beginning of the first line and press the
Options :
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1. % tab key

2. % gspace bar

3. ¥ shift key

4. ¥ backspace key

Question Number : 45 Question Id : 25498910571 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
MS Word H $5¢ &1 82 & AT, 30 HIR B! Ugell a1z P 3RY H T SR el

Options :

Question Number : 46 Question Id : 25498910642 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What do you understand by letter spacing?

Options :

1. % Tt refers to the standard distance between adjacent characters.
2. ¥ It refers to the space between sentences.

3. % It refers to one convention for the use of spaces.

4. % Tt refers to distance between baselines.

Question Number : 46 Question Id : 25498910642 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

aa@aﬁm(letter spacing)ﬁ\’:ﬂq Wﬂﬂ%ﬁ%"

Options :

1. ¥ UG 3fTF qUI & i AHD g3l bl Yafid Sl g

2. % g IRl & o1 B W DI Hafiid Bl 5

3. % g5 WY P IUINT & oY U URUTCT &1 Halid Hral g
4. % TG YR AT & o1F DI g3 & Yefiid Har gl

Question Number : 47 Question Id : 25498913302 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

In pivot table with the help of a we can select multiple items, instead of selecting only one item.
Options :

1. ¥ Report filter

2. % Row labels

3. % Summation values

4. % Framelets

Question Number : 47 Question Id : 25498913302 Question Type : MCQ Option Shuffling : Yes Display Question Number
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: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

fige caa | &1 HETIT I §H hacl U SMTSTH B 97 B & Joilld B3 SMSTHI BT 90 PR Thd g |
Options :

1. ¢ RUié flheey

2. % JdAe

3. % gUH 3?21\—:[ (Summation values)

4. % hAACH

Question Number : 48 Question Id : 25498918941 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

When you want to remove/add spacing between the current and preceding paragraphs in MS Word, which one you will select out
of the following options?

Options :

1. ¥ CTRL+BACKSPACE
2. % CTRL+0

3. % CTRL+ENTER

4. % CTRL+END

Question Number : 48 Question Id : 25498918941 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

g 3T MS Word & T 3R gdad! REMH! & oia WRAT ger1/sie ared 8, O 34 9 & 9 1 31 fawed g
Options :

1. ¥ CTRL+BACKSPACE

2. % CTRL+0

3. # CTRL+ENTER

4. ¥ CTRL+END

Question Number : 49 Question Id : 25498923949 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

In MS PowerPoint _____ view displays how your presentation will look when printed out with notes.
Options :

1. ¥ Normal

2. # QOutline

3. # Slide Sorter

4. ¥ Notes page

Question Number : 49 Question Id : 25498923949 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint g Ve fRid o § for ey & 1y fife orade 817 W st vgfa i fexah|
Options :

1. % 9Hd
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2. % JH3cdlgd
3. % WSS HicR
4. ¢ Y U

Question Number : 50 Question Id : 25498930575 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following Excel functions will give you the current date and time?
Options :

1. ¥ Current()

2. ¥ Now()

3. ¥ Day()

4. % DateTime()

Question Number : 50 Question Id : 25498930575 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Excel 194 ¥ BI- A1 HhaRM 3! adM fafy 3R w73 &
Options :

1. ¥ Current()

2. % Now()

3. ¥ Day()

4. # DateTime()

Question Number : 51 Question Id : 25498932166 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The and H.323 are two main protocols that have emerged to provide the signaling control for the establishment of the
video conferencing technology.

Options :

1. # Session Internet Protocol
2. ®# Session Internet Parameter
3. % Section Internet Protocol

4. % Session Initiation Protocol

Question Number : 51 Question Id : 25498932166 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
3R H.323 & T UISIhid &, St ST HISh 1T deb-ildh R $HRA o REfel dreid Suds B & forg
AR gu gl
Options :
1. % I §eAC UISblid
2. % UM e WRHIR
3. % HaYH §eC UISTbid
4. ¢ Y RN Weloid

Question Number : 52 Question Id : 25498934458 Question Type : MCQ Option Shuffling : Yes Display Question Number
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: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following is most widely used streaming video file container format?
Options :

1. % H.261

2. % H.262

3. ¥ H.263

4. ¥ H.264

Question Number : 52 Question Id : 25498934458 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

fafafed & ¥ $H a8 el ST fa1 9 aran KT difsa e de-k URey g2

Options :

1. ¥ H.261

2. % H.262

3. ¥ H.263

4. ¥ H.264

READING COMPREHENSION

Section Id : 2549895892
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895933
Question Shuffling Allowed : Yes

Question Id : 25498921025 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

China

China is the third biggest nation in the world. Its population is more than that of India’s population. China is our neighbour. The
Himalayas lie between India and China. To the east of China lies the Pacific Ocean, to the north of China is the great Gobi Desert.
The Chinese have ruled in this territory without any break for the last 4000 years.

The first Chinese civilisation grew in the great river valleys of two rivers — the Hwang Ho in the north and the Yangtze in the
south. This civilisation grew at the same time as the Harappan civilisation in the Indus Valley in India. Even today, these river
valleys are the most densely populated parts of China.

The Chinese are mostly farmers. In modern China, farmers do not own their farms. Each village has its own land. The villagers
work on it together and the harvest is shared among them. The main crops grown in China are rice in the south and wheat and

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 24/41



5/16/22, 3:32 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

millet in the north. Silk, tea and cotton are also important and there is a large fishing industry. Chinese silk is famous all over the
world. In fact, the Chinese were the first to make silk. Their silk was sent to far off places — as far as Europe through the ancient
silk route.

The Great Wall of China, one of the Seven Wonders of the World, is the longest wall in the world. This wall is about 2000 years
old and more than 6000 kilometres long. The wall is made of stones and bricks. It is the only man-made structure visible from
outer space.

Sub questions

Question Number : 53 Question Id : 25498921026 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The great Gobi Desert has been ruled by the Chinese for the last years.
Options :

1. % 2000

2. % 4000

3. % 400

4. % 200

Question Number : 54 Question Id : 25498921027 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which feature of the Great Wall of China makes it absolutely unique?
Options :

1. ¥ Tt is the only structure to be called as one of the Wonders of the World.
2. % Tt is the first wall made of bricks and stones to be built by the Chinese.
3. % It is the only structure built by man that can be seen from outer space.

4. % Tt is the only wall in the world that is over 4000 years old.

Question Number : 55 Question Id : 25498921028 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Chinese silk reached Europe and other countries through:
Options :

1. % the ancient silk route

2. % the Gobi desert

3. % the two river valleys

4. % the Great Wall of China

Question Number : 56 Question Id : 25498921029 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What is the common farming practice followed in modern China?
Options :

1. ® Farmers cultivate their own piece of land in the village.

2. % Farmers cultivate the village land jointly.

3. ¥ Farmers collect their own individual harvest for use.

4. % Farmers grow only such crops which are profitable.

Question Number : 57 Question Id : 25498921030 Question Type : MCQ Option Shuffling : Yes Display Question Number
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: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements about India and China is NOT true?
Options :
1. #¥ Both have a large population
2. % Both share a common border
3. ¥ Both were the first to make silk

4. % Both the civilisations grew together

Question Id : 25498921025 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

fow 7 T P ufeu IR IS Tg 3 AT U & IR S|
EiC|

A 3y BT TRRT T8 TT S 8 | 1 B SRS YR BT SRS Bt o1 H e 8 | T gART gerf g1 ferred wRa
3R 19 & ot 7 fRyd 81 9 & gd H =i AR SR D4 & IR H et &7 e I g 1 9 7 o foseft araem
¥ fosa 4000 T AP T & TR WA fahar B

Ut I qdT & Al B HgH AE) et - IR W g 81 3R < feror H ittt - H well-Ha | I8 9l YRd J iy urct §
TSWT I & I99 § gl 9t At 3T Y, 3 =1} wnfeat i & 9o =it serd) arel R & |

TSR 1 fharit & il B @) § 1 Syfes A= B, ot & ury 3o Wt 1 Aiferes = SR T8t § | A T1ia b
Ot STHH BIcht 8 | ATHUT U AT HTH B & SR HHA S0 sl IS &1 Tt g | I H IS o+ aTell I B Gieor
T rad 3R ITR A g 3R SN & | Riyewp, A7 3R Hury it 3fereg & Iuwman SIran ], iR 981 A3l Uhs &1 U 981 3T
i 81 2 1 XX O g § Ui 71 ard H, 9 7 8 Had Ugel XX ST 411 S <R Bl Ui Ried ¢ & gRI
WG D ™I TR - Tgl db b R — Ht WS 71 T

I B HgH IR, gHaT & I1d Sy B W T § SR a1 &1 Gad ddll SlaR 81 I8 SR T 2000 98 QR 8 3R
%ooomﬁlaﬁﬂf%aaﬁ% AR TR SR S¢l U o+ ¢ | I8 STes! SiaRel § faars & arefl Uear THd MiHd Ixar
|

Sub questions

Question Number : 53 Question Id : 25498921026 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

farmret el XA R A gRT N o I T T B
Options :

1. ¥ 2000

2. % 4000

3. % 400

4. % 200

Question Number : 54 Question Id : 25498921027 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

I &) 78 daR @1 B At fadedr sge kw32

Options :

1. % g8 g1 & ool § ¥ Ueh Hea aTelt UhHH IR 5 |

2. % g T GRI TS T aTaH 3¢ 3R TR § -1 ugel SR g
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3. ¢ g % g fAfHfd vaam e 8 o aer ofafer ¥ 3@ off I g |
4. % g AT B! UHAH SR & S 4000 T T 317 QR 81

Question Number : 55 Question Id : 25498921028 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

FNRART SR IS ST & T71e0H J g ol
Options :

1. ¢ Ui e ¢

2. % e IR

3. % g At wfea

4. % JH B HEH SlaR

Question Number : 56 Question Id : 25498921029 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

YFH 9 § S S g1 Fa1 82

Options :

1. % g TTia & 9 & 309 Ths R W dxd g |

2. ¢ O T U 9 TMid B Y IR Bl HRA B

3. % fHUM IualT & forg Srut cafaTTd wae Shg Hvd B
4. % UM Fad T B 3T § o ATHETIS g |

Question Number : 57 Question Id : 25498921030 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

I 9 YR & fore fFaffed wu=i 8 3 a9 T8 82
Options :

1. % SHY B S fawe 3

2. % I AT A1Eh B

3. ¢ Rie® o999 & T 1 Ugd o1 3|

4. % T A IY-I1Y gUT |

QUANTITATIVE APTITUDE
Section Id : 2549895893
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895934
Question Shuffling Allowed : Yes
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Question Number : 58 Question Id : 25498914305 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?
(Note: You are not expected to calculate the exact value.)

151.011 —419.999 + 649.991 = ?
Options :
1. % 350
2. % 365
3. % 375
4. % 380

Question Number : 58 Question Id : 25498914305 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

frrafaf@ea s & mea BEa (7) F T W IHFATAd AT 37 g TET? (319! T AT H
IUTAT ALl FET 2)

151.011 - 419.999 + 649.991 = ?

Options :
| % 350

, % 365
;% 375

4 v 380

Question Number : 59 Question Id : 25498914309 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Select the number from among the given options that can replace the question mark (?) in the following series.

17, 289, 425, 493, 527, ?
Options :
1. % 534
2. % 542
3.9 544
4. % 594

Question Number : 59 Question Id : 25498914309 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

fau U fawedl & 9 a8 S g Sl fFafaRaa 9oft & us g (2) & R W S

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 28/41



5/16/22, 3:32 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

17, 289, 425, 493, 527, ?
Options :
1. ¥ 534
2. % 542
3.9 544
4. % 594

Question Number : 60 Question Id : 25498928793 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Three friends J, K and L jog around a circular stadium in the same direction and complete one round in 12, 18, and 20 seconds,
respectively. If they start from the same point, in how many minutes will all three meet again at the starting point?

Options :
1. %5
2. % 8
3.% 11
4.93

Question Number : 60 Question Id : 25498928793 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

T ERA 1, K, 3R L & TR W fSTH & aRI R T =11 § ST $H3 38 § SR O 12, 18 3R 20 J&e | wfeaw

%Wﬁfna?awww?r%ﬂH%%Wﬁg@f&g&ﬁﬁ%‘,a‘r%@nﬁﬁgmﬁﬁﬁm@rﬁaﬁﬁmﬁmww
?

Options :
1. %5
2. % 8
3. % 11
4.9 3

Question Number : 61 Question Id : 25498928913 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.

55% of /2116 +- 0.01 =7 x 20
Options :
1.« 126.5

, x 1276
3 % 124.6
4 % 1254

Question Number : 61 Question Id : 25498928913 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
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0
Correct Marks : 1 Wrong Marks : 0

fAeataf@a wea & Ted REd (7) & T W F7 HwEm?
V2116 F55% = 0.01 =7 % 20

Options :

| v 1265

, = 127.6

;% 1246

4 % 125.4

Question Number : 62 Question Id : 25498928926 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Two-thirds of Ranjit’s monthly salary is equal to Raman’s monthly salary. Raman’s monthly salary is thirty per cent more than
Pawan’s monthly salary. Pawan’s monthly salary is ¥32,000. What is Ranjit’s monthly salary?

Options :

1. ¥ 364,200
2. % %62,500
3. % 264,500
4. ¥ 362,400

Question Number : 62 Question Id : 25498928926 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Toid & HIRYP A= BT < fagTs T & AIRRIS 9d- & SRIsR & | THF BT HIRYD dd- U= & HIIeh dd- o 30 Ufa=id 3ifie
81 UG- BT AR da 332,000 & | Toiid &1 {1 Jof faraT 82

Options :

1. ¥ 264,200
2. % 262,500
3. ¥ 264,500
4. % 362,400

Question Number : 63 Question Id : 25498929145 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The present ages of Vikas and Shobhit are in the ratio of 2 : 3. After 12 years, their ages will be in the ratio 11 : 15. The present
age of Shobhit is:

Options :

1. #¥ 32 years
2. % 42 years
3. ¥ 48 years
4. ® 56 years
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Question Number : 63 Question Id : 25498929145 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

I SR MU T I 3G 2 : 3 F A H 1 12 T & &G SHD! 3G 11 : 15 P ST & 11T | MY Bt IdHH 311G

T2
Options :

1. % 3299
2. % 499
3. 48 Y
4. % 56T9

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549895894
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895935
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498912852 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Study the given arrangement carefully to answer the following question.

MI1ESRB3AK7£#9SUDIN46% FH2@8W

If the order of the first fifteen elements in the given arrangement is reversed, then which of the options will be the eighth to the left
of the twelfth letter/number/symbol from the right end?

Options :
1.¥ A
2. % £
3.% 3
4. % K

Question Number : 64 Question Id : 25498912852 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

fafafe g & erFgde Ue 3R 39 4 i3 T vy #13Ww :

M1ESRB3AK7£#98UDIN46%FH2 @8 W
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e IIRIGd TR H Ugd U8 UGl & A oI [quid o § ferar o, t Fgforiad & 3 & a1 grif 3iR § IRed 31ery
G&1/YcdIh & SR 3R 31 al g
Options :
1.¥ A
2. % £
3.%3
4. % K

Question Number : 65 Question Id : 25498912866 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

How many pairs of letters are there in the word 'SENIOR' each of which have as many letters between them in the word as they
have between them in the English alphabetical series?

Options :
1. % Nil

2. % One
3. % Two

4. % Three

Question Number : 65 Question Id : 25498912866 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

e 'SENIOR' § 31&R1 & U fora 1S &, FoFTH ¥ U & oid I a1 $1&R § fora Sfioh guraren & I o g2
Options :

1. = Y

2. ¥ D

3. % Q)

4. % o9

Question Number : 66 Question Id : 25498918971 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
In the following pair, find two words related to the words already given — one word for each of two related pairs.

I: Wheat :: Brick : II

L. (1) Cereal (2) Field (3) Bread (4) Farmer
II. (A) Building (B) Mason (C) Clay (D) Kiln
Options :

1. * 1A

2. % 2D

3.9 3C

4. % 4B

Question Number : 66 Question Id : 25498918971 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
13T 11 ¥ Uh-Ueh eg 1 9T B 3 [ddhed SIg b1 I9 B Sl Ud Wea-TH & & ol |
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I: ﬂg@ﬁf} ;:i‘c’(@?ﬁ): I

L (1) SFASERT) (2) BAWBIE) (3) AANES) (4) fHFIH@RR)
11 (A) ST (B) TSfERlE) (©) Frgla) () Hgl@le)
Options :

1. % 1A

2. % 2D

3.9 3C

4. % 4B

Question Number : 67 Question Id : 25498919656 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given three words.

Hand : Wrist : Bangle
Options :

1. ¥ Foot : Ankle : Anklet
2. # Toe : Foot : Knee

3. % Neck : Head : Collar
4. % Foot : Socks : Toes

Question Number : 67 Question Id : 25498919656 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

fofafed Uy o, o U8 s AU U & S forddt &0 & th-gak ¥ afid g1 - fou U IR fawent # 9 ue o, fou 7Tu 2o
T 5 ey 7| e faded &1 uar @

TUES) : FAR(I%) : FEET)

Options :

1. ¢¥ WR(PT) : THT(UH) : Tole(TaRie)

2. % WP GIE) : W(Pe) : GeIh

3. % TAI(AD) : RR(@S) : Tal HTUS(DIER )
4. % W(PT) : ARIEIRT) : TR B JTfergi(@re)

Question Number : 68 Question Id : 25498919948 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Adamant

2. % Stubborn

3. ¥ Rigid

4. % Lenient

Question Number : 68 Question Id : 25498919948 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0
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Correct Marks : 1 Wrong Marks : 0
T el H IR 21 AU 1T & o 4 i ol TR A Tb O &, STafdh U 371 el 8 1 30 e Wi 1 U e |
Options :
1. % 3fST (TeHe)
2. % o} ()
3. # BHR (RSTS)
4. ¥ JaR (AFTe)

Question Number : 69 Question Id : 25498927866 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Tractor : Trailer :: Horse : ?
Options :

1. % Stable

2. ¥ Cart

3. % Saddle

4. % Engine

Question Number : 69 Question Id : 25498927866 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Ugd ¢l Usal & o1 BIs IoY g1 3T Te! fadhed &1 9u 3 fore! iR Weg T 3471 &) Ty |
EEET:W::EI}IET:?

Options :
1. % 3RAIA (Tq)
2. MG (@TE)
3. ® B3} ([@s)
4. % o

GENERAL AWARENESS
Section Id : 2549895895
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895936
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895272 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which year was the first train steamed off in India?

Options :

1. % 1848

2.9 1853

3. % 1875

4. # 1880

Question Number : 70 Question Id : 2549895272 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR H Ugal IR YS! Hd Ials T8 22
Options :

1. % 1848

2.9 1853

3. % 1875

4. # 1880

Question Number : 71 Question Id : 2549899672 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The term ‘mixed economy’ denotes:

Options :

1. ¥ the existence of both rural and urban sectors

2. ¥ the existence of both private and public sectors
3. % the existence of both heavy and small industries

4. % the existence of both developed and undeveloped sectors

Question Number : 71 Question Id : 2549899672 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ffdra srfeawir wreg &1 3rf T 82

Options :

1. % grfior ofR e &, < 1 JUrRUfa

2. ¢ T3Sil SR TS QI &l 1 JUrRf

3. % UK SR BIC Q! IeNT B UK

4. % fafid SR A Ria i &l & Jurfa

Question Number : 72 Question Id : 2549899773 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the Indian freedom struggle, which of the following events occurred earliest?
Options :

1. % Gandhi-Irwin Pact

2. ¥ Lucknow Pact

3. ¥ Cripps Mission Proposals

4. ¥ August Offer

Question Number : 72 Question Id : 2549899773 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
YR aadr 9urd & deu § FafaRed gersh & 9 9od ugd o9 @ gfea gs o
Options :
1. % Tid-gRfa 3fY
2. ¥ TS HfY
3. % fopu A e
4, % 3T Y19

Question Number : 73 Question Id : 25498912748 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which country won the gold medal in men's hockey at the 1992 Barcelona Games?
Options :

1. ¥ Pakistan

2. % Britain

3. ¥ Germany

4. # Holland

Question Number : 73 Question Id : 25498912748 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

1992 & STRIGHT Qdl § G381 & gleb] H W0l Ugdh (b ST = SiidT 412
Options :

1. % UIfhed™

2. % fgeq

3. ¢ AT

4. % gids

Question Number : 74 Question Id : 25498929808 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Aerobic oxidation is caused by:

Options :

1. ¥ aerobic bacteria in the presence of excess of oxygen

2. % anaerobic bacteria in the presence of insufficient oxygen
3. ®¥ aerobic bacteria in the absence of oxygen

4. % both anaerobic and aerobic bacteria in any condition

Question Number : 74 Question Id : 25498929808 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
IR SfiRAIHRT frdds BRI Gl 52
Options :

1. ¢ RIS DI TAHAT H arId ST
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Question Number : 75 Question Id : 25498932491 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

The National Bank for Agriculture and Rural Development (NABARD) was established in the year:

Options :
1. % 1970
2. % 1975
3. % 1977
4.+ 1982

Question Number : 75 Question Id : 25498932491 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

ST B SR T f[AHT™ S (A16TS) BT R g avf # 31 7152

Options :
1. #1970
2. % 1975
3. %1977
4. % 1982
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Group Marks : 0
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Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549895896
Section Number : 1
Section type : Typing Test
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Number of Questions to be attempted : 1
Section Marks : 0
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Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895937
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.
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Section Id : 2549895897
Section Number : 1
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Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
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Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895938
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937227 Question Type : TYPING TEST Display Question Number : Yes

Calculator : None
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Whether you have already achieved your target weight or you eagerly want to achieve it, understanding how to maintain a
healthy lifestyle is essential. From maintaining calories to knowing how to handle problems, use these tips to maintain your
healthy lifestyle. Maintain healthy habits every day. When it comes to maintaining a healthy lifestyle, one of the most
important things you can do is simply working for consistency. No matter how busy life gets or how much your schedule
changes on a daily basis, try to eat the same balance of whole foods and consume a similar number of calories and work in
a consistent amount of physical activity. You might want to maintain your healthy habits during the week and give yourself
a break on the weekend, but it is important to keep things consistent every day of the week. By sticking to your healthy
habits seven days a week, you will be less tempted to do unhealthy things and more likely to sustain your weight loss for
the long time. Maintain calories. After achieving your weight loss goal, you might want to make your diet plan light or
change your eating patterns. While it might be a good idea to include a different range of nutritious foods in your diet, it is
important to keep maintain calories. The number of calories you need at your target weight would not be the same as what
you needed when you began your weight loss journey. To identify how many calories you need, calculate your total daily
energy expenditure regularly to make sure that you are helping your body achieve the energy balance you want. Stick to
an exercise routine you love. You already know that regular exercise and good physical fitness is essential for helping you
reach your ideal weight. But you might not know how important exercise is for feeling good and maintaining a healthy
lifestyle. If you already do cardio and strength training in during your daily visit to the gym, keep it up. If you are ready
for a change of your routine then try not to take a break. Instead, do at least sixty minutes of physical activity each day.
Get a full night sleep. If you never make time for sleep, your healthy lifestyle goals could suffer. Sleep and weight gain are
more closely connected than you might think. When you do not get enough sleep, you are more likely to skip the exercise
that helps you burn fat and build muscle and you take unhealthy eating decisions. Sleep deprivation encourages unhealthy
decisions as it reduces activity in the part of your brain that look after impulse control. As you consider these strategies
and manage to keep your energy balance consistent, remember that maintaining optimal health is not a short term goal.
Consider a healthy lifestyle as the essential point for your long term health, and mark far reaching goals that will help you
stay healthy no matter what life brings to you.
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Question Number : 79 Question Id : 25498944385 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None
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